NTERADHB(HEBERFH
4 —rh2RER—9R —-3:E— AE A
K4

1) ROC DIZABHEFEEELGSL, (AR X5E=20:)

1) 28=( dEsfE

2) 4365g=( dke( )8

3) 4325mm=( ym( Yem(
4) 2.4L=( )dL

5) 468m75cm+798m38cm
=( Ykm( ym( Jem

Jmm



NTERADHB(HEBERFH
4 —rh2RER—OR — 38— XNBE A
K4

2) RO(C DIZABBFEEELEL, (4R X5E=201)

1) 78%=( BRI ( )
2) 7065mg=( )g( Jmg
3)  4km27m=( m

4) 3.02kL=( JKL( )L

5) 7L3dL—54dL=( )L( )dL



NTERADHB(HEBERFH
49 —rh2RER—9R — 38— KEE A H
K4
3) RO(C DIZAZBFEEELE, (4R X5E=201)

1) 1748=( )53( o
2) 3t425kg=( kg

3) 2045m=( dkm

4) 75dL=( L

5) 1B16EE27432% +28148E38% 428
=( YA( R ( )53 ( B



NTERADHB(HEBERFH
4 —rh2RER—9R — 38— KBE A H
K4
4) RO(C DIZABBFEEELEL,. (4R X5E=201)

1) 86EHE=( YA( JEfE

2) 2kgbg=( )g

3) 4002. 6m=( Ykm( ym( Jem
4) 6034L=( JkL

5) 3t745kg635g+2t678kg398g
=( )t ( Ykg( )g



NTERADHB(HEBERFH
4 —rh2RER—9R — 3B —&IE A
K4

5) RDO( DIZAZBFEEELEIL, (4R X5E=201)

1) 98472%=( DEFE( )53(

2) 18g45mg=( mg

3) 4044305mm
=( Ykm( ym( Yem(

4) 7kL1996L8478mL
=( JkL( )L( JmL

5) 412m57c¢cm—13268cm
=( ym( Jem

B

Jmm



NTERADHB(HEBERFH
A —thZZER—9A —3#

1) ARE—@E (45 X58) A B

1) 48 2) 4,365 3) 4,32,5 4) 24 5) 1,267,13

2) RE—MRE (4R X58) A H

11,18 2) 7,65 3) 4027 4) 3,20 5) 1,9

3) KiE—MRE (4R x58) A H

1) 2,54 2) 3425 3) 2.045 4) 7.5 5) 4,7,6,14

4) KIE—RRE (4R x5H) A B

1) 3,14 2) 2005 3) 4,2,60 4) 6.034 5) 6,424, 33

5) &IE—ME (4R Xx5H) A B

1) 1,39,12 2) 18045 3) 4,44,30,5
4) 9,4,478 5) 279, 89



